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NEW TEPS: Reading Comprehension 2153 M= X|2

PART III.

Read the passage and the question. Then
choose the option that best answers the
questions.

PART IV.

Read the passage and the questions.

Then choose the option that best answers each
question.

Experience Environmentally Friendly Travel
Kalahari Safari Eco Trip
Let Eco Trip’s expert guides show you how to survive in
harmony with the bush.
+ $1995 each for 8 days on safari
« Visit the Naro Bushmen, an ancient tribe of
hunter-gatherers, to experience their age-old culture
« Learn about the medicinal use of plants and herbs
« See beautiful wildlife up close, including the Big 5
« Find out how to travel in the bush while making
a minimal impact on the local environment
« Two nights in a traditional Kalahari lodge,
six nights In tents (guests should bring their
sleeping bags)

For more information,
please feel free to call +254-733-351938.

Eco Trip

Q .Which of the following is correct

according to the advertisement?

(a) Participants on the Kalahari safari trip have
to bring their own tents.

(b) The tour group will stay with the Naro
Bushmen for one night.

(c) Guests can stay a few nights in an old-
fashioned Kalahari accommodation.

(d) Naro Bushmen will give a lecture on the

medicinal effect of herbs.

Paul:
/" To Judy,

Thanks so much for coming to the party and helping
me out with the food. If it hadn't been for you, I
would have struggled. I was really panicking when I
realized the caterers weren’t going to show up.
Especially since I was expecting 40 people! I was so
busy testifying in court about my car crash during
the week that I completely forgot to confirm my

order. Thanks again and I hope to see you at

/

\_Matthew’s party on the 3rd!

Judy:

Dear Paul,

Don’t worry about it. I'm happy I could help. A
similar thing happened to me before my birthday
party a few years ago, so I knew that the catering
company I called would be able to help you out
with food at short notice. I won't be at the party
regrettably. I'm actually starting my new job at a

downtown restaurant that Friday. Maybe we could

have lunch on the following Sunday? Does that

~.work for you?

1. What was the reason the catering company
didn't come to Paul’s party?

(a) They were delayed by a car crash on their way.
(b) Paul hadn't verified his order following his car
accident.

(c) They were unable to cater for 40 people at the
party.

(d) Paul accidentally forgot to give them his address

and number.
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2. Which of the following is correct?

(@) Judy suggests that Paul and her meet the
weekend after the party.

(b) Paul is invited to visit Judy’s new restaurant
for lunch.

(¢) Judy worked for the catering company that
supplied Paul’s party.

(d) Judy is going to Matthew’s party in a
restaurant on Friday.

FEA oY= & SR

California urgently needs to institute a more
comprehensive forest management strategy,
something that would make the forests far less
combustible than they are now and would
prevent conflagrations in advance, instead of
simply focusing on compensation afterwards.

Rethinking California’s Wildfire Problem

Eleanor Sanders

California’s dry, windy, and hot climate has
meant that wildfires have always been part of
life in the state. In recent years, however, the
annual fire season has been getting longer and
the fires have been getting more extreme. This
has led to increasing public demands for more
protection, as many doubt whether the
government’s current approach will make much

difference.

Politicians in California have instituted a raft of
proposals designed to both limit the damage
caused by wildfires and assist those who have
been adversely affected. They have shored up
insurance coverage for wildfire damage while
budget.
penalties will be

also increasing the fire fighting

Meanwhile, higher financial
enforced for those who are at fault of causing
wildfires. Despite these efforts, optimism is thin
on the ground in California. This is because
these measures don’t deal with the root cause of
the problem: the historical mismanagement of

California’s forests.

3. What is the main purpose of the
passage?

(a) To explain how wildfires have affected the
lives of Californian people

(b) To commend legislators’ attempts to
prevent wildfires in California

(c) To stress what is required to effectively
reduce wildfires in California

(d) To find out why people are critical about the

insurance policy change

4. What can be inferred from the passage?
(a) Anyone convicted of starting a fire in
California will go to prison.

(b) The mismanagement of the forests in
California is irreversible.

(c) Insurance coverage for forest fire damage
was previously nonexistent.

(d) The current state of the forests increases

their flammability.
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PART III.

&g (c)

Clue sentence: Two nights in a traditional Kalahari
lodge

e Zaol en LXst= A
H7| ()2 7|2 E old-fashioned Kalahari
accommodation (N EX 0l Ztz2}st2| =HhA|A) =]
a traditional Kalahari lodge( EX QI Ztztsiz| @ 8%
FHZ X 20N A4 E ™, Two nights ~ lodge(F &2

MEHol Lejotal 2EUYON HuhE

=< =M Oo|tt

at B

2=
HEHE A4S &
== QUL} O] LH- 0| Guests can stay a few nights in an
old-fashioned Kalahari accommodation. (1 Z{2 H& =
ot MSHQ Zetste| SHA|E0 HEE & ACHe =

HF 2 H| paraphraseZ| % 222 (c)7} EO|Ct.

PART |V.

1.

g (b)

Clue sentence: I was so busy testifying in court
about my car crash during the week, I completely

forgot to confirm my order.

sl of =% Q2| |t} Paulel THE|Of LIEHLES O Al
=X == M 0|Ch HE29| 7|9/ EQ catering
company(E%& 22| 3|AHt 2 El caterers(22| ZEX
FHE XZ0M 22, Q2] ZEXS0| LEFLER] G
=

Ae LUAS M Y| d&AUCt= WEO| LIt T

A
was so busy ~ forgot to confirm my orderQji A 3t = F
oF Xt At W E0f YEM Selot=ct vtk FES
SEots 1S NS AQUCHD Rk 0] Lf0| Paul
39| Xt Ab2 o0 1o =25 2QIoHA| HRACHEt=
L{E 2 Z paraphrase&l (b)7} HEO|C}

2.

e (a)

Clue sentence: Maybe we could have lunch on the

following Sunday?

FEA oY= & SR

e XEe| W&a eX|St=
a)| 7|} EQ

A2 == =HOICL 27|
| the weekend after the party (TtE|2| Ct
S FIe} B El the following Sunday(CtS 2o g) F
HE A0 AHES, O O 290 Ed AAME
AL SFSICE 2tA, O] Lf-20| Judy suggests that
Paul and her meet the weekend after the party (Judy=
Paullt 1147} THE| Q| ChS O BHe 24 RIQHSHCH
2 paraphrasel (a)7} HEHO|LCH

3.

e (<)

Clue sentence: This has led to increasing public
demands for more protection, as many doubt
whether the government’s current approach will
make much difference / California urgently needs
to institute a more comprehensive forest
management strategy
e X|2o FE 582 2= =M oItk 2229
‘California urgently needs to institute a more
comprehensive forest management strategy'(Z42| = L
Ot= ZlastAl o Zastohof
_Lr_J.L1 O| __I.I.j;-"X-I o] B X

Sexol & el Weo|
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= = —
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10| SafLt YTt MatA ‘B o
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g (d)
Clue sentence: something that would make the

forests far less combustible than they are now

e X220 =2 = AU
o SX3 X|2ELCH 20| E & %E. 7ol Eolk(less
combustible than they are now) &t2| ™&f

(management strategy)0| Z Q3}Ct= L|S Hf
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PART III. 39-40
Listen to a conversation between two
colleagues. 39.
21 (2)
| (b)
(a) (c)
(b) (d)
()
(d)
40.
(a)
PART V (®)
' ()
37-38 (@)
37.
(a)
(b)
(c)
(d)
38.
(a)
(b)
()
@ X HE B mp3mU g SolsiFAL,

cige eass e [ sFcEA ) i
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[2g 2 #a] PART V.
PART III.

Next weekend, the community center is
21. organizing a bus trip for senior citizens to
W: My boss is really stressing me out. the Leeds Art Museum. This is part of our
M: What did he do? program of events for elderly people, which aims
W: He’s been giving me more work than I can to help get our older residents out and about. If
handle. you are over 65, the trip will cost $10, which
M: Well, maybe he thinks you're capable of it. includes lunch at a local restaurant in Leeds. We
W: Yeah, but I can’t concentrate on so many plan to leave early on Saturday morning. It is an
projects at once. hour’s drive there, and we will return in the
M: So you would prefer to finish one thing and evening before 5 p.m.

then start another. ]
] ] At the museum, we will be shown around by a
W: Right. Then I could work more effectively. ] ]
tour guide. Lunch will be at 12:30 and the meal

will be preceded by a short talk from a local

W: L &ADE 32 AEQA 2 ol
) historian. Afterwards, you will be free to wander
M: 0t & EA =07 .
] through the galleries and the sculpture garden on
W: Lotold = = 20 e 2= =10 UN
_ _ your own. We will meet up in the Main Hall by
M: E, OtOtE WDt OZ & == ACtD M2A6tAIL 2X1. .
~ _ the gift shop at 3 o’clock to make sure
W: del, DRI & B0l DN 2 Z2RE
_ everyone is accounted for before we go back.
a5 & 5 St 20l0k
_ ~ The bus back will depart at 3:30 precisely, so we
M: LU= ottE 2D OE 2= AMBots & O £0t )
_ ask everyone to please be on time.
ot=—Lt
W: GH0f. e [ EFC=Z L& == 0.
37. What is the main topic of the talk?
Q. Why is the woman complaining? (a) A plan to have lunch
(@) Her boss never does any of the work. (b) A daytrip to a museum
(b) Her boss interrupts her when she’s working. (c) A program for the elderly
(c) Her boss has lost confidence in her abilities. (d) A tour of a local town
(d) Her boss assigns her too much work.
g (b)
g (d)
e &3tel =HE 2= 2HMOICH Next weekend, ~
ol (A 286t /e 0l7E = SHMOICH KX the Leeds Art MuseumOll Al CHS =20l AI2I 235} 3
Db RHAIS] MAAD B AEYAS 2 SHCHH He's 2H0| Leeds D220 Ji= LSS 98 HA THA|
been ~ I can handle(LiDJt ol &= A= LECH E2 OIS Orle 240l2tD L6 3, 0 (30l st 80
2s =0 A0)etd H22= (d)It S0l OIOIZCH WetA g5t =R HEs 242 (b)OoICH

o2 2asE Ags | of7{AHEHA ﬂ HEFUXI| Solgio] & A2 E SH| M4 ULt W SBLIC)
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38. Why are people asked to meet in the

Main Hall?

(@) They should get ready to leave.

(b) They should check out the sculpture garden.

(c) They need to listen to a lecture from an art
historian.

(d) They need to buy some gifts.

g (a)

ol& AHHE0I Bl B0IA 2HUHES 275HE 0IR

= 2XM0ICH We will meet up ~ before we go back

OlA S0t J0il 2 AFE =01 Q=X =40l ot
FIoH A0 BIRl 20iIA 2 202t K22 (c)It
ZEO0IC.

FEA oY= & SR

proposed a new theory of gravity to explain
dark energy that contradicts Einstein’s
theory of relativity. None of these theories have
been proven correct, and dark energy remains

one of the great mysteries of modern physics.

Ever since the mid-20th century, physicists have
known that the universe is expanding, but so far
they have been unable to explain why this is
occurring. The most compelling explanation
appears to be that “dark energy” is
powering this expansion, although no one is
sure what this mysterious energy form
might be. Despite this, scientists have managed
to calculate that dark energy is responsible for
the majority of the energy in the universe, at

around 68 percent.

There are a variety of theories that explain the
existence of dark energy. The most common
explanation is that it is the energy generated by
the vacuum of space. Albert Einstein called this
the “Cosmological Constant.” Another leading
theory suggests that dark energy is a quantum
effect, meaning that it is the result of virtual
particles being constantly created and destroyed.
Other theorists believe that it is a completely new

energy field. Some physicists have even

39. What is the main point of the passage?

(@) Physicists are divided on whether the universe
is expanding.

(b) The theory of dark energy has been proven
incorrect.

(c) Most energy in the universe is dark energy.

(d) The composition of dark energy is still

unknown.
e (d)
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40. What can be inferred from the lecture?

(a) Einstein’s theory of relativity doesn’t account
for dark energy.

(b) It is impossible to detect quantum particles.

(c) Many scientists argue that dark energy
doesn’t exist.

(d) Physicists are getting closer to detecting dark
energy.

g (a)
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